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PGT Business Studies 

Q 1). Who among the following has become the world’s youngest and fastest female para 

swimmer to swim solo across the English Channel Successfully recently? 

(A) Shivani Kataria 

(B) Dolly Nazir 

(C) Devanshi Satija 

(D) Jiya Rai 

Correct Answer: (D) 

Q 2). Recently, an Indian-origin lecturer named Prasanthi Ram at Nanyang Technological 

University has won Singapore Literature Prize for English fiction for her short story 

named _____. 

(A) Nine Yard Sarees 

(B) House of Cards 

(C) Dollar Bahu 

(D) The Very Expensive Coconut 

Correct Answer: (A) 

Q 3). Recently, WHO has declared Dhulikhel Municipality as the second healthiest city in 

Asia. This Dhulikhel Municipality is in which of the following countries? 

(A) India 

(B) Bhutan 

(C) Nepal 

(D) Myanmar 

Correct Answer: (C) 

Q 4). If a teacher first explains the rule and then gives examples. Which type learning style is 

this? 

(A) Inductive 

(B) Deductive 

(C) Indo-Deductive 

(D) Illustration 

Correct Answer: (B) 

Q 5). In which stage, children are able to think about things in terms of consistent physical 

features? 

(A) Sensory Motor 

(B) Concrete Operational 

(C) Pre-Operational 

(D) Formal Operational 

Correct Answer: (C) 
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Q 6). Which of the following is not the main feature of RTE Act? 

(A) Free Elementary Education for all children in age group 6-14 years in a neighbourhood 

school. 

(B) Completion of Elementary Education even after fourteen years of age. 

(C) Private Tuitions by teachers is not prohibited. 

(D) No child is denied admission due to lack of age certificate. 

Correct Answer: (C) 

Q 7). Consumers should use ISI marked electrical appliance is an example of __________. 

(A) Right to be informed 

(B) Right to safety 

(C) Right to choose 

(D) Right to be heard 

Correct Answer: (B) 

Q 8). Business activities can be classified in two broad categories ______ and _____. 

(A) Trade, Commerce 

(B) Trade, Industry 

(C) Industry, Commerce 

(D) Manufacture, Trade 

Correct Answer: (C) 

Q 9). The _______ form of business ownership does not have separate legal entity. 

(A) Co-operative Society 

(B) Partnership Firm 

(C) Public Limited Company 

(D) Private Limited Company 

Correct Answer: (B) 

Q 10). A district Forum has jurisdiction to entertain a consumer complaint involving product 

value of ___________ under Consumer Protection Act, 2019. 

(A) upto Rs.20 lakhs 

(B) upto Rs.10 lakhs 

(C) between Rs.20 lakhs to Rs.1 crore 

(D) above Rs.1 crore 

Correct Answer: (D) 
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Q 11). Utmost good faith, Insurable interest, Indemnity, Proximate cause, Subrogation, 

Contribution and Mitigation are the principles of _________. 

(A) Banking 

(B) Publicity 

(C) Insurance 

(D) Joint Venture 

Correct Answer: (C) 

Q 12). In the 2001 resolution on industrial policy, the number of industries exclusively 

reserved for the public sector was brought down. This meant that the private sector can 

now enter all areas, except these and the public sector would have to compete with them. 

Which of the following areas are now exclusive for the public sector? 

(i). Atomic energy 

(ii). Arms 

(iii). Communication 

(iv). Railways 

(A) (i), (ii), (iii) 

(B) (i), (iii), (iv) 

(C) (i), (ii), (iv) 

(D) (ii), (iii), (iv) 

Correct Answer: (C) 

Q 13). Which aspect of staffing is concerned with upgradation of the knowledge and skills of 

the employees? 

(A) Placement and Orientation 

(B) Training and Development 

(C) Selection 

(D) Estimating Manpower Requirement 

Correct Answer: (B) 

Q 14). Application for approval of name of a company is to be made to ________. 

(A) SEBI 

(B) Registrar of Companies 

(C) Government of India 

(D) Government of the State in which company is to be registered 

Correct Answer: (B) 
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Q 15). Match the following Column-I with Column-II. 

Column-I Column-II 

a. Advertising i. Hindrance of person 

b. Warehousing ii. Hindrance of place 

c. Trade iii. Hindrance of time 

d. Transport iv. Hindrance of information 

 

(A) a-i, b-ii, c-iii, d-iv 

(B) a-iv, b-iii, c-i, d-ii 

(C) a-i, b-iii, c-iv, d-ii 

(D) a-iv, b-i, c-ii, d-iii 

Correct Answer: (B) 

Q 16). As “The decision-making authority is pushed down the chain of command” at S&M 

enterprises, it provides the benefit of quick decision making to the organisation because: 

(A) There is no requirement for approval from many levels. 

(B) Organisation is able to generate more returns. 

(C) There are innovative performance systems. 

(D) It's a means of management education. 

Correct Answer: (A) 

Q 17). For the following two statements choose the correct option given below: 

Statement I: Accountability can be delegated 

Statement II: Responsibility can be delegated completely 

(A) Statement I is correct and II is incorrect. 

(B) Statement II is correct and I is incorrect. 

(C) Both the statements are correct. 

(D) Both the statements are incorrect. 

Correct Answer: (D) 

Q 18). “Changes or events cannot be eliminated but they can be anticipated and managerial 

responses to them can be developed.” is suggested by Which of the following importance of 

planning? 

(A) Planning facilitates decision making. 

(B) Planning promotes innovative ideas. 

(C) Planning provides direction. 

(D) Planning reduces the risks of uncertainty. 

Correct Answer: (D) 
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Q 19). “Our assets walk out of the door each evening. We have to make sure that they come 

back the next morning”. Stated by Narayana Murthy former, CEO of INFOSYS. Which 

asset is referred here? 

(A)  Cash and Bank 

(B)  Customers 

(C)  Investments 

(D)  Human Resource 

Correct Answer: (D) 

Q 20). Identify the correct sequence of the steps involved in the staffing process. 

(A) Recruitment, Estimating the Manpower Requirements, Placement, and Orientation, 

Selection. 

(B) Estimating the Manpower Requirements, Selection, Placement, and Orientation, 

Recruitment. 

(C) Selection, Estimating the Manpower Requirements, Recruitment, Placement, and 

Orientation. 

(D) Estimating the Manpower Requirements, Recruitment, Selection, Placement, and 

Orientation. 

Correct Answer: (D) 

______________________ 

 

 


